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A 1. 07*' -53* -17-0. 2. 2(-ldbK -8). 4. x» + 2*»-_8« + l.

6. (1,_2, 3), (3,2,1), {(6±|/~3) + 3, (6=f2|/]-8)-: 3,

(6±i/-3)j^3}, (-1,-2,-3), (-3,-2,-1), i(-6±i/-3) + 3,

(-6=F2v/^^)-f-3, (-6±v'-3)-i-3J.

B 1. For a; -I ami 3A; for KxOA; for x<f and for *>8t\.

3. Each - Huni of x and y niultiplcK of numeratorH divided l»y

the X and y multiples of denoniinntorH, etc. 5. 72.

C i. (x-y)(x + y)(x + y-(i)(x + y-^a). 2.1. 8. 3, (3±i/3) :-2.

5. 33| mi. an hour; 48^ mi.

D 1. (i) (i + 3+v'2)(x + 3-i/2); (ii) (x-^r+ v\')ix-i-Vh^)-
2. A circle of radius 5. 4. b is zero, and then the common
factor is x, or 6 is 9 and then the common factor is x + 3. 5. 5.

^"'"
da. 8.(2,1),E 2. (i) (- +— + -) of work; (ii)

^ t TO 11
' mn + nl + lm

(-2, -1), (±6-1/569,^5^1/569). 4. (i) (2x-8»/-5«)(x +

5j/-3«); (ii) (x + l)(z» + p-lx + l).

F 1. 8 mi. and 10 mi. an hr. 8. 1, c(o-6)-f-o(6-c). 4, (i)

«» + 9x» + 23x + 15; (ii) x» - 26x + 6' - j/» + 2ay - o'.

G 1. (4, -3), (-3, 4). 8. 5,7. 4. (i) (5x-2y)(2x + 3y);

(ii) (3a;-2y + «)(x + 2i/-32). 5. 5(x-3)« + 37(x-3)» + 148(x-3)

+ 91.

H 1. 6i. 2. Not true off 8. Equals 4. 4. (-|' g-)-

I 8. $1.00 and 6|c. a lb. 4. to = 3 and the two roots are 3 and

3, or TO = 5 and the two roots are 5 and 5.

J 1. (i) (a + b + c)^'S; (ii) fHF- 2. 27. 4. (i) (nx-6)

(c3^-dx + c); (ii) (x-l)(x + 2)(z-4)(2x + 3). 5. -ttt; min-

imum for X = |.

K 2. ( + 5, +7), ( + 7, +5), (-5, -7), (-7, -5). 8. The latter

excludes the solution (x = 0, y = 0) of the former. 5. (x-l)* + 5

(x-l)* + 10 (x-l)» + 10 (x-l)» + 5 (x-1).


